FLOOR SCALES

RoughDeck’ QC-X

4 x 4 Scale
Part Number/Price

Ref# Part# Description Price

2 173856 | Load cell, SEB RL35023-N5-2.5K, 5K scale Consult
2 173857 |Load cell, SEB RL35082-4K, 10K scale Consult
3 18756 | Foot Consult
4 18411 | Shim plate Consult
5 175972 | Corner lock knob Consult
6 176519 | Safety bar left Consult
7 35088 | Screw, cap 1/4-20NC x 1 hex Consult
8 14634 | Nut, lock 1/4-20NC hex sst Consult
9 175899 | Pin: Hinge: 3/8in dia x 1.53in long: sst Consult
10 175897 | Retaining ring Consult
11 47715 |Pin: Hinge: 5/16in dia x 5in long: sst Consult
12 175900 | Pin: Hinge: 3/8in dia x 2.56in long: sst Consult
13 176545 | Gas spring Consult
14 176520 | Safety bar right Consult
15 47714 |Ring, retaining 5/16 shaft Consult
16 47713 |Ring, retaining 1/2in shaft Consult
17 176339 | Screw, cap 1/2-20NF x 2-1/4 Consult
19 176164 | Large end fitting Consult

Floor Scales

i
10
[l
|

lime
=]

= @
[a— =
iﬂm [: @ ‘ = »
— 2.00+.25
22.00+.50 '
— |=—3.53+.50 "
= n = l l’ L
N [oas]
=] = =
\//
—815 [~
4.565

An ISO 9001 registered company © 2019 Rice Lake Weighing Systems 01/19 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.




FLOOR SCALES

RoughDeck® QC-X

5x 5 Scale
Part Number/Price

2 18756 | Foot Consult
4 175974 | Safety bar left Consult
5 175975 | Safety bar right Consult
6 14634 | Nut, lock 1/4-20NC hex sst Consult
7 35088 | Screw, cap 1/4-20NC x 1 hex Consult
8 175900 | Pin: Hinge: 3/8in dia x 2.56in long: sst Consult
9 175899 | Pin: Hinge: 3/8in dia x 1.53in long: sst Consult
10 175897 | Retaining ring Consult
11 176162 | Gas spring Consult
12 176164 | Large end fitting Consult
13 173856 | Load cell, SEB RL35023-N5-2.5K, 5K scale Consult
13 173857 |Load cell, SEB RL35082-4K, 10K scale Consult
14 176339 | Screw, cap 1/2-20NF x 2-1/4 Consult
15 175972 | Corner lock knob Consult
16 47713  |Ring, retaining 1/2in shaft Consult
17 176163 | Gas spring Consult
18 47715 |Pin: Hinge: 5/16in dia x 5in long: sst Consult
19 47714 |Ring, retaining 5/16 shaft Consult
20 18411 | Shim plate Consult

o
o)
o
w
0
Q
@
(7]

o - T

T
il

A
\
0
6l
[
\
[=]
@]
|
'

] {IEE = |
- I —
i @‘ m [™n m (&R i Zoo‘t B}

6 28.00+.

— 23750 1—1.13125

= I N =i ==

SECTION A-A

nlcE LAKE’B An I1SO 9001 registered company © 2019 Rice Lake Weighing Systems 01/19 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.
WEIGHING SYSTEMS



